X0 XL X2 X3 X4 X8 X8 X? X8 X9 XA B XC XD XE ¥F ELF HEADER
E_IDENT

vo (NN @0 (1) SE 20 28 32 34 39 34 29 0D @0 0+4 | ELMAG \)7F ELF
5+1 | ELDATA None

SIPSN 07 00] 3E 00 (00)00)00)00)("AY00)40)00)00)00N00)00) 10+2 | etype 2 ET_EXEC

12+2 | e.machine @x3E EM_X86_64

14+4 | eversion IGNORED

c¥eT; DX

vo (CEENCINCICENEININT) B4 OF B7 @) B3 00 & 40 Iovs | sen e
sz 90 90 90 680 (0| (L L) 60 B4 62 B7 00 B8 34+2 | echsize @edld

36+2 38

38+2 | @ phnum 1

HO X X2 XS X4 XO X0 X7 X8 X9 XA B XC XD XE Xr N
: o 0B ELF64_PHpR (PROGRAM HEADER)
XA 01 00 00 00 05500 ->4A+4 p.lype 1 LOAD
OE¥S 00)00)(00)¥00X00X00)00)0R)00X00) 00 00 40 00 00 00 ggﬂg pilags 3 XWR
+8 [0 ojifggt 0
DEFED 00 00 BN Y 2B X 00)(00X00)00X00] 5A+8 pvaddr 0x400000
97X 2B} 6A+8 SHELLCODE + STRLEN
7248 SHEILCODE + STRLEN
XO XL X2 X3 X4 X8 X8 X7 X8 X9 XA ¥XB XC XD XE xF Xé"l CODE
22« FF E8 DS 00 EB F3 61 E9 4B 01 ->AA+2 mov al, 4 WRITE
XA BOX014(66189:C7/ BE AC+3 movdi, ax STDOUT
o 11 01 40 00 OF05]BOX3CI66_FF C7]0F 05 kY: AP+5 mov est OXAGOLLL eurer—> 01T
m B4+2 movdl, @x32 STRLEN
B6+2 syscall
B8+2 mov al, EXIT
BA+3 incdi RET 2
BD+2 syscall

B&PP... \n\r\e$




